Week 5 Monday Worksheet - Improper Integral

Instructions. Follow the instructions of your TA and do the following problems. You are not
expected to finish all the problems. So take your time! :)

L (a) [{7 ld:z: (Consider the cases of p < 1, p=1, p > 1. Here a is any positive constant.)
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5. Consider the integral [;° \/5(154,:)

.B/S ok (a) What makes this integral improper? (Make sure to state all reasons!)
&7 %W Y ““b @ Determine whether this improper integral converges or not. (No need to compute. Think
E . of some inequalities)
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